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= pd.read_csv('. /auto—meg.csv', header=None)

.columns = ['mea’, 'cvlinders', 'displacement ', "horsepower ', 'weight', 'acceleration', 'model wear', 'origin', 'name']
head()

mpg cylinders displacement horsepower weight acceleration model year origin name
18.0 8 307.0 130.0  3504.0 12.0 70 1 chevrolet chevelle malibu
15.0 8 350.0 162.0  3693.0 1.5 70 1 buick skylark 320
2 18.0 8 318.0 150.0  3436.0 11.0 70 1 plymouth satellite
° 160 8 304.0 150.0  3433.0 12.0 70 1 amc rebel sst
4 17.0 8 3020 140.0  3449.0 10.5 70 1 ford torino


http://archive.ics.uci.edu/ml/datasets/auto+mpg
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10+ 1.609km, 122 &: 3.7851 -> 1mpg = 0.425km/I
round(2)

a8 Ot S M At

mpaZkel = 1.680834/3. 78541
mpa2ko |

0.42514285110463595
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df['kel '] = df['meg']1*mpaZkpl

df['kel'] = df['kel']. round(2)

df .head()

mpg cylinders displacement horsepower weight acceleration model year origin name kpl

0 1580 8 J07.0 130.0 3504.0 12.0 70 1 chevrolet chevelle malibu  7.65
1 150 8 320.0 165.0 3693.0 1.5 70 1 buick skylark 320 £.33
2 180 (i 318.0 130.0 3436.0 1.0 70 1 plymouth satellite  7.63
3 160 8 304.0 1300 3433.0 12.0 70 1 amc rebel 53t .80
4 170 5 3020 1400 34490 10.5 0 1 ford torino 7.23
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ol BEo
E-IlolE-I 21 — T J dfmfo()
1-1(ﬁ|)H| %E#EEE <class 'pandas.core.frame. DataFrame'>
Ranaelndex: 398 entries, 0 to 397
horsepowerE fige 2 Data columns (total 9 columns):
# Column Mon—Mul | Count Dtwvpe
oIAS QIBIM £ XHE olofop L 2T
_ 0 mpg 338 non—nul| floathd
ot NIBt ZAEZ &EH US | cylinders 998 non-rnull  intf4
N 2 displacement 398 non—null floatb4
cf. dfdtypes—;éi & OI0l & 3  horsepower 398 non—nul | chiect
. _ 4 weight 398 non—nul | floatbd
ﬁ&”%g j—,l' %:' O| Ifﬁ%ﬂ %I'_I 5 acceleration 398 non—null floatbd
B model wear 398 non—nul | int64
T oaorigin 398 non—nul | intG4
g name 398 non—nul | object

ditvpes: floatB4(4), intB4(3), chject(Z)
memory usage: 28,1+ KB


http://archive.ics.uci.edu/ml/datasets/auto+mpg
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print(df['horsepower '] uniquel )]
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Y00
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Y2 oo
2og L0
oo
5. 0o
'od. 00’
‘1430
“1ag.0
‘1160

30.0° "165.0° "130.0° '140.0°

a7.00’
'193.0°
'Bh . 00"
‘135,00
230,00
'61.00°
'81.00"
89,00
‘130,00
'82.00']
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|

"186.0" 'Z2z20.0° '215.0° 'ZZ23.0° '130.0°
'G0.00" '85.00° "46.00° 'BY.00° '50.00°
Yetot100.0' "103.0" "1Fs.0°0 153.0¢

'f0.00° 'fE.00° 'B5.00° 'B3.00° 'RO.0OO
"112.0" '82.00° 1450 13700 1680
'43.00" 'f5.00° '31.00° "122.0° 'BY.00°
'93.00" "145.0° "129.0° '36.00° '¥1.00°
'f8.00" 120000 152,00 1020 Y1080
'63.00" "45.00" '6B.00° *133.0° '103.0°
42,00 TfFL00°0 'e2.000 132,00 'B4.00°
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(= O = ol = import numpy as np
7S 25 MAHsH)| 2ol df [ 'horsepower '] replacel'?' ,np.nan, inplace=True)
<class 'pandas . core.frame DataFrame'>
A C =
replace() il == ALE Rangelndex: 398 entries, 0 to 397

L 2t Data columns (total 9 columns):
horsepower Jt 5= < il O1 &4 I ¥ Column Mon—Null Count Diwpe
6 AS! (‘7 JHE )

M= 0 mpg 398 non-null  floatB4
1 cyvlinders 398 non—nul | int64
2 displacement 398 non—nul | floatbd
3 horsepowsr 392 non-nul | object
4 weight 398 non—nul | floathd
5 acceleration 398 non—nul | floatbd
B model wear 398 non—nul | intE4
T origin 398 non—nul | intE4
8 name 398 non—nul | object

dtypes: floatB4(4), intB4(3), ohject(?)
memory usage: 28,1+ KB
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df .dropnalsubset=["'horsepower '], inplace=True)

e A

= =0 0IE HA
dropna() Ol &S AtE .
df . info
30| Jj 4 30204 =0 Y
<class 'pandas.core. frame,DataFrame'>
IntEd Index: 392 entries, 0 to 397
Data columns (total 9 columns)
#  Column Mon=Mul | Count Dlvpe
0 meg 392 non-nul | floathd
1 cvlinders 392 non—nul | inthd
2 displacement 392 non—nul | floathd
3 horsepower 392 non—nul | object
4 weight 392 non—nul | floatbd
5 acceleration 392 non—nul | floathd
B model wear 392 non—nul | intbd
7 origin 392 non-nul | intGd
B name 392 non—nul | obiect
floatBA(4), intBA(3), object(2)

dtypes
memory usage: 30,6+ KB
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astype() HiAE=2 s HE
& A astype(‘float’) 2 & AHS

horsepower?2| At 2 & float64 = H2

df [ 'horsepower '] = df['horsepower '] . astypel 'float')
print{df[ horsepower '] . dtvies)

floatbd
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= Numpyc2tOl22di2l 2l histogram() HIAE & g
count, bin_dividers = np.histogram( df] ‘horsepower’], bins=3 )
A0 ot 28 2240
Bhet
g0 S

Lt = 2 2H(bin) Ji==Z bins
JH==(count) 2t B H 8t 2l A E(bin_diveders)E
et = MASHD 3 240

25 442 A
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3. 747:” HA ‘I"_6|'7‘

= Numpy?2| 02 & np.histogram()
=250 O[O A

count, bin_dividers = np.histogram(df[ 'horsepower '], bins=3)
print{count, bin_dividers)

[257 103 32] [ 46, 107 .33333333 160.66EEERET 230, ]
Zl A gt 46, = TH4: 230
2 H3t Dt 2l A2kl XHE P24 D <(bins) 2 L1, & A0 1 2+
G50l CHS ZH S M A
0l) bins=32! & 2, (230-46)/3 = 61.333 (S 2+
Z| LIS & Al: 46+61.333 = 107.333
2 | &=/8l & = 257,103, 32
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= Pandas® cut() Bl A S &2 ot

\J

=

histogram()S= Sofl A &t0] Rl A8, B A &L

(bin_dividers)E bins& &
28 22+2] 0| & 2l A E(bin_names)E labelss= &
ds d80otH 2 A2 &

inclule_lowest=True=
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bin_names = ['AE2','EEEH" ' IEH"]
df['he_bin']l = pd.cut(df['horsepower '], bins=bin_dividers, labels=bin_names, include_lowest=True)
df [['horsepower ', 'he_bin']] head(15)

horsepower  hp_bin

0 1300 2E==
1 1650 2===
2 1500 2Ez==
3 1500 2EZH
4 1400 2s==
5 1980 1=
6 2200 n==
7 2150 n==
8 2250 n==
9 1900 D=

10 1700 ==
11 1600 2=

12 1500 HE==

13 2250 n=H

14 950 H==
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Label Encoding

= Label Encoding

2+2+ 0| == (unigue category) CHoll CHE B2 B &
Every day 3
Never I 0
Rarely 1
Most days 2
Never 0
n =9
H=0 et =xgtel AJ|It et 228 Al It=X 28 E Jts
A= UOIHSHMHE =& HOIHNH HE
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0 _J',_¥_A.|§>=I |_‘_.||O|E.|ordinal data
H=S UIOIEH=0AN HOl=LE S &0 0] 2F

2t2to] B30l &= A Ot 3

H& M
=& Ol 2 201 "Never" (0) < "Rarely" (1) < "Most days" (2) < "Every
day" 3) =22 HF0l =A It U= EF

JtsXl 2tz Qlet 24

n EZAHd
Decision TreesLt Random Forests?t &2 = Tree-Based Models2| &2, = A
S HIO0IE 0l CHol Label Encoding & =



2&4.1 Label Encoding

horsepower hp bin hp le

= Algorithm &

0 1300 PE=d 1
AZ320l 0|4 A 1 1650 HE== 1
_ _ 2 15800 BEE=H 1
(=] — =l _AC = = =
I-I%aﬁd_l_E-l 0 1 2 OI'CI' |': C:’:I'—l— -
3 1500 2E=d 1
- O —
hp_bln%:' 9' Label= O,l,ZE lju_:l% 4 1400 ZE== 1
5 1980 D= 2
6 2000 p== 2
#algorithe . 7 2150 == 2
def label_encoding(data):
if data=='HME3 " 8 2250 o=d 2
return 0
_ 9 190.0 =g 2
elif data=="2S==": =
return 1 10 1700 D=9 2
else: 11 160.0 EZ 1
return 2 U ESE5
12 1500 PE=d 1
df ['he_le'1=df['he_bin'] applv( label _encoding) 13 2250 D=z 2
df [['horsepower ', "he_bin', 'he_le']] head(15)
14 950 H== 0



M &4.2 LabelEncoder()

m Scikit-learn preprocessing

2 53.201 OO A
LabelEncoder()E importoH Al
fit_transform() 2 = label encoding
o =0 &l Strings WEl=2 2

stC
0,1,2,... €<

from sklearn.preprocessing import Label|Encoder

|e=Labe |Encoder( )
df['he_le'l=le. fit_transformidf[ 'he_bin'])
df [[ 'horsepower ', "he_bin', 'he_le']] .head(15)

horsepower hp bin hp_le
0 1300 HEZ= 1
1 1650 mE== 1
2 1500 mE=d 1
3 1500 m==d 1
4 1400 HEZ== 1
5 1980 == 0
6 2200 D= 0
7 2150 1=g 0
8 2250 == 0
9 1900 == 0
10 1700 == 0
11 1600 Z==d 1
12 1500 HEZ= 1
13 2250 == 0
14 950 H== 2
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One-Hot Encoding

m One-Hot Encoding
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2H2+ 0| & 2= 0l (unigue category) CHoll 2 &2
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A21&5.1 One-Hot Encoding

w ASXH S| UIOIEHMEZ &5

CtE =5 AFO|E: http://archive.ics.uci.edu/ml/datasets/auto+mpg
AsSUa: =4 dlole 2l origin H ==
origin Xt&Fe| & AHXIE 20|

df = pd.read_csv('. fauto-meg.csv', header=MNone)

df columns = ['meg', 'cvlinders', 'displacement ', 'horsepower ', 'weight', 'acceleration', 'model wear', 'origin', 'name']
df  head()

mpg cylinders displacement horsepower weight acceleration model year | origin name
o 18.0 8 307.0 130.0  3504.0 12.0 70 1 | chevrolet chevelle malibu
1 15.0 8 350.0 162.0  3693.0 1.5 70 1 buick skylark 320
2 18.0 8 318.0 150.0  3436.0 11.0 70 1 plymouth satellite
° 160 8 304.0 150.0  3433.0 12.0 70 1 amc rebel sst
4 17.0 8 3020 140.0  3449.0 10.5 70 1 ford torino



http://archive.ics.uci.edu/ml/datasets/auto+mpg
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s B3=24A {0|H Origin b 2 B St df[['origin', 'name']] tail(15)
origin 0 umqueDI-O 1, 2, 30|ﬂ, origin name
E—”Ol E_l E|_O |2 int64 383 JPN honda civic
== Int 384  JPN honda civic (auto)
385 JPN datsun 310 gx

print{df{'origin'] . uniquel))
printldf['origin'] . dtvees) 386 USA buick century limited

287  USA oldsmobile cutlass ciera (diesel)

[13 2]
intEd 388 USA chrysler lebaron medallion
389 USA ford granada |
origin HHAE 2} HO2 Ha 390 JPN toyota celica gt
TE Ao —" == 391  USA dodge charger 2.2
3982 USA chevrolet camarg

df['origin'].replace({1: "U=&",2: 'EU",3: "JFN'Y, inplace=True)
print(df["origin'] .unicuel}) 393 UsA ford mustang gl
print{df['origin'] . dtvpes)

394  EU VW pickup
['USA" "JPN' 'EU']
obiect 395 USA dodge rampage
296  USA ford ranger

297 USA chevy 5-10
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pd. get_dummies(df['origin'])

origin_dummies.tail{15)
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